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ME: fol INHO B2 NEHALS
o9l Do DMK AHs el (B9 @2
S HH - S(BH) - HEAY - BE=2 Off &+ o4 J) &let HRZ2
e 737,795 723,795 14,000
= 9,000 7,000 2,000
Al 728,795 716,795 12,000
Mol ool BHe2 REMAAHE 586,683 572,668 14,000
= 9,000 7,000 2,000
Al 577,688 565,683 12,000
DY DIMYR R el 200,289 190,289 10,000
= 6,000 6,000 0
Al 194,289 184,289 10,000
A &% 188,289 178,289 10,000
202 O1Hl 79,633 69,633 10,000
01 =Lhotbl 79,633 69,633 10,000
0 S8 MM 2+ =2 A 46,263,000 46,263 36,263 10,000
HINO MALBZS S8t NS0 18,491 14,491 4,000
= 3,000 1,000 2,000
Al 15,491 13,491 2,000
AsNREEY 29 4,000 0 4,000
= 2,000 0 2,000
Al 2,000 0 2,000
202 018l 4,000 0 4,000
= 2,000 0 2,000
Al 2,000 0 2,000
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ME: Moo INHO B2 NEMARS
o9 M3 MOl MHLBE S8 MAE0 ChRE
S HH - S(BH) - HEAY - BE=2 Off &+ o4 JIE o HRZ2
01 =Ljoit] 4,000 0 4,000
(S8l 2 EAR] 4,000 0 4,000
O 4ENS2Y 29 ot 20,0002 * 28§ * 1002 4,000 0 4,000
= 2,000 0 2,000
Al 2,000 0 2,000






